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The question paper comprises of two Sections, A and B. You are to attempt both the sections.
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All questions are compulsory.

ST WTT-3T 3R WA & e el % S0 9, - 9 e B
All questions of Section-A and all questions of Section-B are to be attempted separately.

qI-37 ¥ WE e 18 3 % U U 3 6 o T S TE v AT T A 1 <
Question numbers 1 to 3 in Section-A are one mark questions. These are to be answered in
one word or in one sentence.

qTT-37 ¥ WY e 4 § 6 3 WY 21 8f 3wt # £ T TR T 30-30 WIEaT A < |

Question numbers 4 to 6 in Sections-A are two marks questions. These are to be answered in
about 30 words each.

31 3 T e 79 18 3 e - A it = ¢ =3 “TeH ST 50-50 FTeal A & |

'Question numbers 7 to 18 in Section-A are three marks questions. These are to be answered

in about 50 words each.
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Question numbers 19 to 24 in Section-A are five marks questions. These are to be answered
in about 70 words each.

T ¥ W TE 25 @ 33 & 9 YA e W T agfaemed WET €1 JOE T U
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Question numbers 25 to 33 in Section-B are multiple choice questions based on practical

skills. Each question is a one mark question. You are to select one most appropriate response
out of the four provided to you.
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Question numbers 34 to 36 in Section-B are questions based on practical skills are two marks
questions.

HIM-#H / SECTION-A

Y TEEmm, Ties SuE, MEAed, S sfaEl (ER). 1
Pick the odd ones out ribosomes, golgi apparatus, mitochondria, Endoplasmic Reticulum
(ER).

=

@ o iz A fore 7om 8 kg & ol wa iz B fomve 7e0mM 20 kg & S 1 o Wi w5 T
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An object A of mass 8 kg and an object B of mass 20 kg are to be pushed simultaneously.
Which of the two has greater inertia ? Give reason for your answer.

3 o AT FETE i | e I R TR a9 wahd €7 1

How can we obtain high yields from our agricultural land.

Frfefias =1 Fiisto @, 9 e fee o =i S 2
et WA, BEEE SeRRES, 97

4 Classify the following into element, compound and mixture.
Brass, gold, hydrogen sulphide, air

5 am?ﬁa?ﬂ”ﬂaﬁﬁmﬁmrwm%ammmmmﬁﬁmwm%? 2

What s the function of sieve tube cells and how are they designed to carry out their function ?

6 . e e e Fedt < a3 s e wet T A S W gl o §1 w2
grm AlE
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Let us consider the force of gravitation between two objects as ‘F’ and distance between them
as ‘r’. What will be the effect on force if :

1 th
@ 't is reduced to — .
4

{(b) If the masses of both the objects are increased by three times. b y
J?"'.\
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List the three characteristics of particles of matter.

8 mw%%ﬁmmwﬁwﬁmw%t@qwﬂﬁaﬁmmmﬁm 3
Wlmﬁaéaﬁmﬁaﬁmmﬁﬁmx

You are provided a mixture of mustard oil and water. Name the technique to separate it and
write the principle involved. Draw diagram of the technique used.

9 qﬁaﬁammﬁm%mqﬁaﬁ@awm | Wﬁﬂgﬁﬁwaﬁ(ﬁ—@nﬁﬁaﬁmﬂﬁ 3
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A litfle baby was playing in a park with his maid. Suddenly he fell down and got minor
injury. Maid applied tincture of iodine on the wound.
Why did she apply tincture of iodine on the wound ?

Name the solute and solvent present in tincture of iodine.
(@}  Enlist the values shown by the maid

10 (a) Wmﬁm@%ﬂﬁ@mq 3
: (b) et e 3 e f TR SRl B S €

(©) mmmmaﬁa@mmw%?

{a) Mention the location of parenchyma tissue ?

(p)  How is it modified in aquatic plants ?
(c) What are the other functions that it performs ?

11 aaﬁaﬁwmmmnﬁaﬁﬁmwﬁvﬁmmmﬁﬁﬁﬂmm1 3

Differentiate between the various types of meristematic tissues on the basis of location and
function.

' @ qﬂqﬁwﬁﬁﬁwﬂﬂﬂﬁﬁﬁrﬁﬁqﬁﬂﬁﬁaﬂﬁmt wﬁaﬁﬂnﬁi#'ﬁéfﬁ il A 3
N fafan

Define uniformly accelerated motion and uniform motion. Also write any two equations of
uniformly accelera}pd motion.

Page 3 of 10




WYy

geeft AT W FAM 9.8 ms 2 %1 AR wiE woamH @ fa g sEmE AW FE H TE 3
foerd fags 91 o Fugdl & goht =% wag Tg & WE = 8 ?

The value of ‘g’ on earth’s surface is 9.8 ms * Suppose the earth suddenly
shrinks to one - third of its present size without losing any mass. What is the

value of g an the surface of shrinked earth.

et o & Tow = o7 dvE € o som 9 o o o e & Fefm @ w 87 sSrwoiew 3
TE i

{1/’. £ Is it possible for a body to have its velocity and acceleration pointing in opposite directions ?

e

16

17

18~

13

Justify giving an example.
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How would you arrive at a mathematical formula to measure force using Second Law of
Motion ? Define the unit of force using this formula.

o e i aftfa mife :wm%aﬁﬂqﬁmmaﬁqmwwmw* 3
? GHE- T [l YR AYEEF © 7

Define crop rotation, What is the basis of choice of the crop to be cultivated after one harvest ?
In what way crop rotation is advantageous ?

TaE Hada % AT at s 991 Wi 99 % SOl 1 SeeiE e | 3

Mention the fresh water and brackish water resources for fish culture.

(@) 7 e B oo wifen i gl F T 30w w5 € 3
(b) A diee el qo e E?

a) Mention the pathogens which cause diseases in the plants.
( Where are these pathogens found ?

(a) Tagw =i oftwfes Fifse ) 2w, o9 o A5l F famo =1 & &1 s i 5
(b)  TEsTer ot arne % WuE R Seed wie |
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(a)  Define diffusion. Explain the rate of order of diffusion in solids, liquids and gases.
() State the effect of temperature on diffusion.

20 (a) WW%W@Wﬁﬁ@[WWW@TWﬁW&@EW 5

e
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(a) Mention any two differences between physical and chemical changes. Give one
example of each.

@ List any two properties for each of the following case of metals which makes them

suitable to be used as :

@ (i) utensils for cooking food
(ii) wires for electrical connections

21 (a) qmﬁamﬁﬁmﬁﬁmﬁmﬁmml 5

(b) aﬁéﬁrmﬁmﬁmmﬁﬁﬁeﬁaﬁkmmﬁmm%?

{a) Differentiate between rough and smooth endoplasmic reticulum.

(b) How is  endoplasmic  reticulum important  for membrane  bio-
genesis ?

@,- u‘ﬂﬂmmﬁwﬁrﬁaﬁaﬂwgﬁﬁmﬁr%qﬁqﬁmwmaﬂ@ﬁmaﬁﬁﬂi 100 m/s® 5
w%aﬂ@uﬂgmnﬁﬁmaﬁfmmﬁ%h#éhﬂﬁaﬁrgﬁmmxs%éﬂﬁ
anet Framerdl &1 Yo g i W AR 2 we T HI

State law of conservation of momenium and prove it using Newtor's third law of motion. A

. cricket ball of mass 120 g moving with a speed of 100 m/s pierces through a sack of sand 10

(% cm thick and comes out with a velocity of 60 m/s. Determine the average force exerted by
sand on the ball.

}3/ aﬁﬁaﬁwmﬁ"uf*ém@aammmm%amnmﬂﬁw'mwﬁm"wﬁlm 5
EaGig :
(a) TEeR] S-G9 T G
(b) h—mﬁﬁa%ﬁmwmmmnﬁﬂuwm (V = u+at) T¥ ]
(©) im;s?ﬁénﬁnﬁmﬂaﬁﬁﬁraﬁ%ﬁé\nﬁ&ﬁmmzsﬁqﬁ;ﬁﬁﬁ%mwm
it
An object starts a linear motion with velocity “u” and with uniform acceleration 2 i
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acquires a velocity “v” in time t.
(a) Draw its velocity-time graph
(b) Obtain Ist equation of motion, V = u + at, for velocity — time relation by using

velocity time graph.
@ A body moving with a velocity of 2 m/s acquires a velocity of 10m/s in 5s. Find its
acceleration.

24 “ﬁﬁﬁﬁm%ﬁmaﬁﬁmﬁ%mﬁﬁﬁmwﬁﬁmﬁwumﬁﬁmﬁlw 5
Y T UF ST IEE Aied THEE |

“Biotic and abiotic factors both influence the productivity of crops in a particular geographical
area”. Tlustrate the statement with suitable examples.

YRT-s/ SECTION - B

25 o d B del i st e S E 1
(@) 3EH = T & fo
(b) T MR e & fawl
(© ¥ s femmee @ & fel
(d) (@) (b) () e T I % fe
Metanil yellow is added to dal so as to:
{a) improve the taste
(b) increase its weight

() improve the colour and appearance
(d)  all of these

26 oy

@m—mqvmﬁﬁmaﬁmﬁmﬁraﬂuﬁamwmmmxﬁtﬁmﬁm sfbeRHh =1 T e T
3 firem WX Fren—Hren 17 8 ST ¥ 1 7 i 8 e ¢
d @ b) e e
(€)  HUElH = (d) s
Seema was brying to test the presence of starch in potato tuber. She forgot the reagent with
starch gives blue colour. The reagent could be::
(a) Safranin
(b) lodine solution
(c) methylene blue

i) eosin
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(a)  EEESH HTHES (b) 3 AEFEES
(€ AW FTEES (d) ETHEE FEES

On strongly heating a mixture of iron filings and sulphur powder a black mass 15 formed due
to the formation of :

(a) Hydrogen sulphide - ({2)] [ron oxide
(c) [ron sulphide (d)  Sulphur dioxide

28 *x‘ﬁﬁ—qfﬁﬁmﬂmmi“qfﬂw%ﬁm'&",qﬁm%ﬁ‘rﬁm#nﬂmﬁmm%%amsﬁ_1
P WSS FE T Wﬁxwyﬁ#w%mﬁmﬁm%#:
(@) X arY S sTERa e i '
(b) X FEida da & o By
() Y siefia 2 & o7 TR X e |
(d) 'x’ﬁtrr“f*aﬁfﬁawﬁaﬁf@%a

X’ is a mixture of iron filings and sulphur, Y is a product obtained by heating a mixture X
and crushing it to a fine powder. On bringing a magnet over both X and Y it is observed that:
{ X and Y both are attracted.

LZ X’ is attracted while Y is not.

(c) Y’ is attracted while X’ is not.

(d)  both Xand Y are not attracted.
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(d) ﬁﬁﬂé‘r@raﬁﬁmaamm%:

Rahul added 2ml of barium chloride solution to 9L of sodium sulphate solution in a test
tube and observed that

(a) a clear solution is obtained 3

(b)  two solutions form separate layers in the test tube

(c) the solution turns pink

(d)  awhite solid settles at the bottom.

30 ﬁﬁmﬂ%mﬁmﬂﬁzﬁmﬁwmm%%: 1
(@) AR SRS (b)  EHAA
(@ N (d) B =

_ ‘While preparing temporary mount the reagent used to stain animal cell is :
£ ‘) (@)  Methyl orange (b)  Safranin

'\':‘:
() lodine (d)  Methylene blue

31 ﬁﬁﬁaﬁnﬁa‘%ﬁaﬁmﬁaﬁ!ﬁ?ﬁwﬁaﬁﬁmwﬁﬁaﬁﬂ@ﬁﬂﬁﬁ%— 1
| (;a] - fEE (b) =
© & @ e
When stained appropriately, the muscle which shows alternate light and dark bands is :

(a)  striated (b)  smooth

{c) Cardiac (d)  unstriated
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A mixture containing (I) Sodium Chloride (If) Camphor and (III) Ammomium Chloride. Was
heated in a china dish. The Substance left in the china dish was. -

& (Oand(m (b) (1) and (1)

© (only (@ (I only.

@' mw%ﬁaﬁw@gmm%w%wwmmwmﬁﬁ% 1
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(d) TfEE 0 - 500 TH WK He9wH i 2.0 TH 4RI

Krishna performs an experiment to establish the relation between weight of a rectangular
wooden block lying on a horizontal surface and minimum force required to just move it using
a spring balarice. If the weight of the wooden block is 300gwt and two known weights of
100gwt each are to be successively placed on the wooden block to take two more readings,
then which one of the following spring balances would you select to obtain the best result. It
is known that a force of 90gwt is required to just move the block on the surface.

(a)  range 0-100gwt; leastcount 1.0 gwt

(b) range 0-200gwt ; least count 2.0 gwt

{c) range 0 - 250gwt ; least count 2.0 gwt

(d)  range 0-500 gwt; least count2.0 gwt

34 wm~wwﬁr@1@ﬁm,@,aﬁﬁmﬁzﬁﬁaﬁﬁaﬁwmﬁ#2
WHWEmﬁMﬁmwmwﬁwﬁaﬁaﬁmq

Four students were asked to add water to glucose powder, milk, sand and soil separately in
four beakers. Classify the mixtures as true solution, colloid and suspension.

35 :ﬁﬁ!ﬁqmaﬁm’—r—mmaﬂMﬁ?ﬂmﬁw—m“cma@aﬁmu”cmnﬁm2
mﬁﬂwﬁaﬁﬂwﬁ%l#ﬁmﬁ%maﬁaﬁqﬁaﬁﬂaﬁmim—qﬁaﬁq%%
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¥ Study the temperature-time graph give below. This graph shows heating of ice from -10% to
water at 100°C. Represent the change of state on heating. During change of state where does

the heat energy go? What is this heat called?
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Temperature
N

[ ™

Time arr——— T e—
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Hifa)

A student recorded the mass of dry raisins as 6.0g and mass of raisins after soaking them in
water for about four hours as 10.5g. Calculate the percentage of water absorbed by raisins.
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